26" [30"]

ENGINEER OF RECORD VERIFY WALL CAN

SUPPORT SUNSHADE LOADS:

DESIGN LOAD: 57 psf

GROUND SNOW LOAD: 50 psf
-See maps where these calculations do not apply.

WIND SPEED: 120 mph
-See maps where these calculations do not apply.

ANCHORAGE IS BASED ON 30" PROJECTION.

MAXIMUM LENGTH OF SUNSHADE: 60"

2 2'-4” [28"] SUNSHADE
(6) 1/4" S.S. SELF TAPPING SCREWS
(300 SERIES - Fy=65ksi Cond. CW)
1/2" MIN. ENGAGEMENT INTO CW CHASE HVARIESH & o & iy o o
BY OTHERS ' -
&
e 1 2 3
M
. 1/4" DIA. S.S. ALIGNMENT BOLT —
b [AT INTERMEDIATE OUTRIGGERS ONLY]
Brer | BY AGS, INC.
1 1» » 1n
iy I TYP. TUBE
. | .
g |
= G o
A Lk | Ak
SN : | F-—f— - ——-——- - i E
o | by | LA :
‘TJI?‘ 7 |
- . |
e
“ N\—(3) 3/8" DIA. $.S. THRU-BOLTS \1/ " THK. ALUMINUM (5) 3" DIA. ALUMINUM
% (A304 - Fy = 100ksi Conc. "CW") OUTRIGGER ROUND TUBES
e BY AGS, INC. BY AGS, INC. BY AGS, INC.
e N\—1-1/2"x8"x3/8" THK. ALUMINUM C.W. BRACKET
. w/ 1/2" THK. BACK PLATE x 15-1/2" LONG
e BY AGS, INC.
e
CURTAIN WALL MOUNTED SUNSHADE
8" BRACKET
CURTAIN WALL SYSTEM :
BY OTHERS
(6) 1/4" S.S. SELF TAPPING SCREWS 2-6" [307]
(300 SERIES - Fy=65ksi Cond. CW)
1/8" MIN. ENGAGEMENT INTO TAPPING PLATE
BY AGS, INC. 2" 2-4” [28”] SUNSHADE
1/8" THK. ALUMINUM TAPPING PLATE
BY AGS, INC. 8" o o By o 2
e
2 T 6"
M
. . 1/4" DIA. S.S. ALIGNMENT BOLT —
b i . ) . [AT INTERMEDIATE OUTRIGGERS ONLY]
K ! 2 3 | BY AGS, INC.
\\ 1 i. o 4%.
< — TYP. TU|BE
5 - | | -
g © I J—\> .
o ] | &
£ a &
w| e J | F-—-——-——- —— : 5
= e L ra | \:L/ .
[Tel
™ I
- |

&

et

STOREFRONT SYSTEM—/ i
BY OTHERS B

et

8" BRACKET

¥(3) 3/8" DIA. S.S. THRU-BOLTS \1/4" THK. ALUMINUM

(A304 - Fy = 100ksi Conc. "CW") OUTRIGGER
BY AGS, INC. BY AGS, INC.

¥1—1/2"x8"x3/8" THK. ALUMINUM C.W. BRACKET
w/ 1/2" THK. BACK PLATE x 15-1/2" LONG
BY AGS, INC.

(5) 3" DIA. ALUMINUM
ROUND TUBES
BY AGS, INC.

STOREFRONT MOUNTED SUNSHADE

BY

DATE

~
wls ||~ §g
©
[ -
3 |
> | E
& |
=~ |2
—~
X h-]
1]
c |
= 7
Z |5
Iq>> (2]
-
ooﬁﬁgﬁ
=>.og°2
_‘DO'%_
L2 3|=
SR I
‘n(ﬂﬁ@%—
N&o%ns
Os:c:|3
< £ 7 -
LIEEE|8
N~ 2|3
=
[Z]
=
<
o
i
Q
|2
w
u . £ |5
|, |5 |5 |2
zZ I = E ]
F LSRN LSRN Fi -
5 Zlo 2|l 2|6 2| =
9 38|z 8|2 8|8 8| s
S BT Bl Bl Bl 2
295l2 5185|455l g
a S|< S|o Qlx 9| &
SHEET NAME
SUNSHADE
SECTION
SHEET
JOB NUMBER
FINISH
HERCULES QUICK SHIP
SCALE DATE
DRAWNEBY | SHEETNO
JRWVV| 01-02



AutoCAD SHX Text
 3"

AutoCAD SHX Text
 3"

AutoCAD SHX Text
1 "14"

AutoCAD SHX Text
1 "14"

AutoCAD SHX Text
 3"

AutoCAD SHX Text
 3"

AutoCAD SHX Text
1 "14"

AutoCAD SHX Text
1 "14"


8" BRACKET

BRACKET CURTAIN WALL SYSTEM BRACKET CURTAIN WALL SYSTEM ENGINEER OF RECORD VERIFY WALL CAN
%" %" BY OTHERS %" %" BY OTHERS SUPPORT SUNSHADE LOADS:
/ 1 (6) 1/4" S.S. SELF TAPPING SCREWS (6) 1/4" S.S. SELF TAPPING SCREWS DESIGN LOAD: 57 psf
(] (300 SERIES - Fy=65ksi Cond. CW) /_ (300 SERIES - Fy=65ksi Cond. CW)
1B/Y"0A/.Irlﬁ.EERgGA GEMENT INTO CW CHASE |13/$ c/;/mEER/;GAGEMENT INTO CW CHASE GROUND SNOW LOAD: 50 psf
—_ —_ -See maps where these calculations do not apply.
WIND SPEED: 120 mph
< < < -See maps where these calculations do not apply.
L
* @ * ANCHORAGE IS BASED ON 30" PROJECTION.
ﬂ M \o ﬂ =
"4 -4
s s MAXIMUM LENGTH OF SUNSHADE: 60"
* o * (=] o
- = =
BR 50 BR 150
\ N \
[} Y
M
| COVER CAP NOTCH COVER CAP NOTCH
MAY BE REQUIRED - _ MAY BE REQUIRED
] H
S
§ ~
I P
1-1/2"x8"3/8" THK. ALUMINUM G.W. BRACKET s 1-1/2"x8"x3/8" THK. ALUMINUM C.W. BRACKET
wl 1/2 THK. BACK PLATE x 15-1/2" LONG w/ 1/2" THK. BACK PLATE x 15-1/2" LONG
| BY AGS, INC. BY AGS, INC.
(3) 3/8" DIA. S.5. THRU-BOLTS 3 (3) 3/8" DIA. S.S. THRU-BOLTS
(A304 - Fy = 100ksi Conc. "CW") (A304 - Fy = 100ksi Conc. "CW")
I BY AGS, INC. BY AGS, INC.
1/4" THK. ALUMINUM ~ 1/4" THK. ALUMINUM
SHIM AS NEEDED OUTRIGGER SHIM AS NEEDED OUTRIGGERS
BY OTHERS I BY AGS. INC BY OTHERS BY AGS, INC.
—_—
ol FLLF
SUNSHADE LENGTH SUNSHADE LENGTH | SUNSHADE LENGTH STOREFRONT SYSTEM
BY OTHERS
11 1l (6) 1/4" S.S. SELF TAPPING SCREWS
CURTAIN WALL ATTACHMENT 2 STOREFRONT SYSTEM CURTAIN WALL ATTACHMENT 2 (300 SERIES - Fy=65ksi Cond. CW)
BRACKET BY OTHERS BRACKET 1/8" MIN. ENGAGEMENT INTO TAPPING PLATE
T (6) 1/4" S.S. SELF TAPPING SCREWS T BY AGS, INC.
(300 SERIES - Fy=65ksi Cond. CW) 1/8" THK. ALUMINUM TAPPING PLATE
1/8" MIN. ENGAGEMENT INTO TAPPING PLATE BY AGS, INC.
/ BY AGS, INC.
J/ | ~—1/8" THK. ALUMINUM TAPPING PLATE il
B BY AGS, INC. N
BRI 0 BRI 0
™~ w~
.,4) I .,4) I
] ]
S S
&= ~ = ~
z | o | ny,Qn. "
. | 1-1/2"x8"3/8" THK. ALUMINUM C.W. BRACKET % 1-1/2'%8"3/8" THK. ALUMINUM C.W. BRACKET
— wi 112" THK. BACK PLATE x 15-1/2" LONG w/ 1/2" THK. BACK PLATE x 15-1/2" LONG
, BY AGS, INC. , BY AGS, INC.
5 (3) 3/8" DIA. S.5. THRU-BOLTS 3 (3) 3/8" DIA. $.S. THRU-BOLTS
(A304 - Fy = 100ksi Conc. "CW") (A304 - Fy = 100ksi Conc. "CW")
1/4" THK. ALUMINUM / 1/4" THK. ALUMINUM
SHIM AS NEEDED OUTRIGGER SHIM AS NEEDED OUTRIGGERS
BY OTHERS I BY AGS. INC. BY OTHERS I BY AGS, INC.
| Pt
SUNSHADE LENGTH SUNSHADE LENGTH | SUNSHADE LENGTH
STOREFRONT ATTACHMENT STOREFRONT ATTACHMENT

BY

DATE

5
4
3
2
1
REV.
NO.

Fax: (708) 479-9478

22442 S. Fey Drive

Frankfort, IL 60423
Ph: (708) 479-9458

www.agsshade.com
Architectural Grilles & Sunshades, Inc.

AGS Inc.

N\

PROJECT NAME:
EPRESENTATIVE:
AGS, INC. PROJECT MANAGER:

LOCATION:
CONTRACTOR:
LOCATION:

ARCHITECT:
R

LOCATION:
LOCATION:

SHEET NAME

ATTACHMENT
DETAIL
SHEET

JOB NUMBER

FINISH

o
SCALE DATE

DRAWN BY SHEET NO.

JRWVV| 02-02



AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
1 "12"


	Sheets and Views
	HERCULES - WINDOW-HERCULES - WINDOW SECTION
	HERCULES - WINDOW-HERCULES - WINDOW DETAIL


